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Q1. | The following is your sorted array and let assume that you need to search the | CLO 1
location of value 31 using binary search.

10 /14 |19 || 26 || 27 || 31 || 33 | 35 || 42 || 44 || Marks 10

0 1 2 3 4 5 6 7 8 98

Q2. | Let LA be a Linear Array (Unordered) with N elements and K is a positive | CLO 2
integer such that K<=N. Following is the algorithm where ITEM is inserted
into the K™ position of LA-

1. Start
2. SetJ=N Marks 10
3. Set N=N+1
4. Repeat steps 5 and 6 while J>=K
5. Set LA [J+1]= LA[J]
6. SetJ=J-1
7. Set LA[K]=ITEM
8. Stop
Write the implementation of the above algorithm
Q3. | Find a given target number (x=61) using linear Search from a list of number CLO1
using C++.

[ 18, 36,56,61,73,87,93]
Marks 10
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